Matemáticas. 4º E.Primaria.
SUMAS Y RESTAS DE Nº DECIMALES
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A) 559,34 + 98,21 =                                               B) 273,98 + 6763,11=







C) 1587,55 + 637, 4 =                                                 D) 145,22 + 44,67=






E) 132, 33 – 44,12=                                              F) 145,22 – 78,67=





G) 554, 1 – 22,65 =                                                H) 558,02 – 145,9 =



OPERACIONES CON € Y CTS.





A) 3 € 50 cts. + 1 € 70 cts =                                  B) 4€ 25 cts + 7€ 63 cts=






C) 10€ 88 cts. + 3€ 26 cts. =                                 D) 45 €  23 cts. + 21 € 89 cts =






E) 56€ 50 cts. – 20€ 32 cts. =                                     F) 36€ 47 cts. – 8€ 50 cts.







G) 78€ 23 cts. – 6€ 32 cts.                                        H) 20€ 57cts. – 13€ 67 cts.

